ExYCIN

a = (r"-réz/\ Z(.:* (2: 8 -wé/) Us ‘%

vt g9 =0 = ZF§+vé= l\;ﬁ(\f’@)
& _+=

V‘z(% = Usvxd“ = r: é'o
. 2 "
— rc
9 U-) - -Fz ':90

E /;i] r‘@) = V& s B

ave: Co=0 = conth e ()= b
€L o(0)=0=0+C
&(H=cwt
r(H = v, sin(Wh)
Fmak = G (W) =il Bl
= 0w @s(wk) Uy + 3 (Wh @ Ug

=Yow (cos Gb) U+ o (ub) )
2T = (For )+ (206408)UG



‘Melh 2

< :-d.% (o ((Q_SLUE) Up + o(ut) Ug )

q {79

N7 = oo/ CPr S = e =0 =W unfer

l

&

(\‘\/

)



kr‘\\ M
¥
\9/\
)
|
/ )
/ ‘ g -
b | / M
) SN : // y | w0 bors
x e e s 210 Z = roso
H O = v 8in©
@) x =0H s
x qa =r‘&'/\9603?
L ‘J_= OH g4 @
:f‘s.\{l@S"/\(e

ﬁ — r sb sn'e
Z — r cos©

OM= (| al= m

= r

{x — Y‘&"ﬂe C@3‘e



EXPCIN
T4/4)

JC(‘-) = 7 ) (Lu(r‘

g(h = rsin(wh)
z(H < «t

() =x= oml vl 5 TR

‘%J“‘!"N A X el-}

y : . = L)
e (Of ro Vit aﬁ(j/}ﬂuw’“? == wrft,

COH= (-S = (O"b‘"

MCQ

l’equx Palr (&L:' e un &Du,r T“ Z‘Tl‘
p- xS
— 2(5*7):2“)*‘F

,\/ .7 -9 z‘)___ /\/2 & L(

”;{}“: Xt g» t = AT W+ = *ouyan)
un; formeg
car || T|| = conk



< | ¥
iR ——
&

'\/\
=
n
A X
LA
Tﬂ)-v u.~‘a—1?
J’W- + AM
3 /2]

-~
“uw

(

7 o proje e por )
e = 2

£ = —ot + (onsk
Wt
I\'?/Lu = Vo Ej A

Am = Vot - “é + (onsh

A (6) :AA:0=O+O+W"~*

Hoys et = O




a3/ ps= ’{J‘,é"‘éq“

~ LgH?
ZCL _{—-f/‘,(”——’er.D =0
al line J“‘eu"\)‘nf

A = “UQZ—VZ'\QQ.D .?/ O

lUO Z NEANZ2 o VD \




